Danse des Sylphes

Franz Liszt
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% The continuation of the Organ-point D, must be effected through the means of the Pedal, without constantly
keeping down the finger on the key. F. LISZT.

The new Attachment called Tone Sustaining Pedal, and indicated here by the letters T, 8. P, may be kept down simultaneously
with the “ona corda’” Pedal throurhout the whole piece, which will greatly enbance the harmonic clearness, while the grand Pedal is
changing according to Liszi's own indication.

www.liszt.dk
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Coda ad libitum.
un poco riten.,
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